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NO. 0+ 9.000  1.500 3.0 6. 50 9.8 NO. 138
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NO. 6 + 0.000 9. 365
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NO. 0+ 0.000 0. 000
NO. 0+ 2.221 2.221 0.0 0.0 — —
NO. 0+ 3.500 1. 279 0.0 1.4 0. 70 0.9
NO. 0+ 7.500 4. 000 0.0 1.4 1. 40 5.6
NO. 0+ 9.000 1.500 1.4 — — 1.4 1. 40 2.1
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NO. 1+ 17.329] 10.306 EC. 1
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NO. 9+ 0.000] 18.211
NO. 10 + 0.000]  20.000
NO. 10+ 2.911 2.911 EC. 4
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NO. 0+ 0.000 0. 000
NO. 0+ 2.221 2.221 NO. 13t A
NO. 1+ 0.000] 17.779
NO. 1 7.023 7.023 NO. 13t A
NO. 1+ 8.706 1. 683 2.3 — — EC. 13 4]
NO. 1+ 17.329 8. 623 2.3 2.30 19.8 EC. 1
NO. 2+ 0.000 2.671 1.7 2. 00 5.3
NO. 3+ 0.000/ 20.000 2.1 1. 90 38.0
NO. 3+ 17.365 7.365 3.7 2. 90 21.4 BC. 2
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NO. 4 + 13.480|  13.480 2.4 2. 40 32.4 NO. 43t ]
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NO. 4 + 16.095 2.615 No. 41
NO. 5+ 0.000 3. 905
NO. 5+ 10.635/ 10.635 EC. 3
NO. 5+ 19.419 8. 784 NO. 63t ]
NO. 6+ 0.000 0. 581
NO. 7+ 0.000/ 20.000
NO. 8 + 0.000/  20.000
NO. 8 1. 789 1. 789 BC. 4
NO. 8 + 7.298 5. 509 BC. 43t ]
NO. 9+ 0.000] 12.702
NO. 10 + 0.000]  20.000
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NO. 0+ 0.000 0. 000
NO. 0+ 2.221 2.221 NO. 13t A
NO. 1+ 0.000] 17.779
NO. 1+ 7.023 7.023 NO. 13t A
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NO. 1+ 17.329 8. 623 0.5 0. 50 4.3 EC. 1
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NO. 8 + 7.298 5. 509 BC. 43t ]
NO. 9+ 0.000] 12.702
NO. 10 + 0.000]  20.000
NO. 10+ 2.911 2.911 EC. 4
NO. 10 + 12.500 9. 589 EC. 43t ]
NO. 10 + 18.564 6. 064 EP
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HOAPERE L HE R

/1 CHERE (GW15) Yg % T & PH ) B
gl fSEA S NS = Xfva &t e
1 EE AR | 2B E AR | 11 B E e
PEREIL R m 39. 40 23. 24 4. 50 67. 1
H /) (H<2m) m® 36. 39 32.83 4, 36 73.6
a7 Y—h [18-8-40
& /) (H=2m) m® — — — —
FERE A RC-40  t=200 | m? 48. 90 33.79 5. 68 88. 4
FERREER
HLarzy—r |18-8-40 t=100 | m? — — — —
Cin — A m? 107. 00 84. 06 12. 63 203. 7
H ikt TFTAEZ A+ [t=10mm m? 4. 62 2.83 — 7.5
KN AT VP ¢ 75 m 10. 48 11.06 — 21.5
Vi 300x300x50 m 1.26 1.08 — 2.3
BEAKE 2
B2+ T R m® — - - - o
+ TR T
HER (C) m® - - - - "
HE D) m® — — — — "
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BAORERE T ME3EE
1. 158 =UHEEE 1T (GW15)

i ) A pEaE BB ~TE
KihE 40 cm A 28 1:0.0 AL 1,000
R 20 em AIH AR 1:0.500 A= 1,118
& OB EN o fE A
K | B | ¥ | AW | AR | Y | EE | S | A | A | Y | EE
¥ m m m m m m m? m? m m m m?
1-1| 3.187| 3.187| 3.187| 0.787| 0.500| 0.644] 2.052| 2.295 0.605| 0.500/ 0.553] 1.762
1-2 | 4.733| 4.733] 4.733] 1.213] 0.787| 1.000/ 4.733] 5.291| 0.761] 0.605 0.683] 3.233
1-3| 2.670| 2.670| 2.670| 1.281] 0.952| 1.117| 2.982| 3.334| 0.503| 0.500[ 0.502| 1.340
1-4 | 2.700] 2.700/ 2.700| 1.392] 1.281| 1.337| 3.610] 4.036] 0.521| 0.503] 0.512] 1.382
1-5| 5.000/ 5.000/ 5.000/ 1.598] 1.392| 1.495| 7.475| 8.357| 1.089] 0.521] 0.805| 4.025
1-6 | 6.410| 6.410/ 6.410] 1.273] 1.009| 1.141| 7.314] 8.177| 0.530/ 0.500] 0.515 3.301
1-7| 5.890| 5.890| 5.890| 1.516] 1.273] 1.395 8.217| 9.186| 0.540/ 0.530] 0.535 3.151
1-8 | 7.365| 7.365| 7.365| 1.691| 1.476| 1.584| 11.666] 13.043| 0.540/ 0.500( 0.520] 3.830
1-9 | 1.445| 1.445| 1.445| 1.730] 1.691| 1.711] 2.472] 2.764| 0.890| 0.540/ 0.715| 1.033
2+ | 39.400] 39.400] 39.400 W EE| 1.282] 50.521] 56. 483 SEEJRR LU 0. 585 23. 057
EE RIS 0. 785
EJERR R
B = EHyEE X (Bl A&+ 5 AR + Kbk
= 1.282 X ( 0.0 + 0.50 ) +  0.400 = 1.04l m
1) FEAFT (RC-40 t=200)
A= (CPEYJEMIE +FREH LiE) X AT &
=( 1.041 -+  0.200 )X 39. 400 = 48.895 =  48.90 m®
2) B
A= FimmfE + W o fE
50. 521 + 56. 483 = 107.004 = 107.00 m*
3) =27 U—1hK (18-8-40)
A:
={( 0.400 + 1.041 ) X  0.500 X 1.282 }
X 39. 400 = 36.393 = 36.39 m’
4) HHA (t=10) (EI
A= {CRUlg + P JERRUIE) X 1/2 X SERE S X & AT
={( 0.400 + 1.041 ) X  0.500 X 1.282 }

X 5 = 4.618 =  4.62m°




5) Kikx 3147 ($75) @2.0m*
N=(ffifi fifE — AR AAL S A%) /@2. Om®
=( 50.521 — 23.057 ) / 2.0 = 13.732

L= (Romfe + CPEHEE R & — PIIR AR &) X I ARL X A%
={ 0.400 +( 1.282 — 0.585 ) X 0.50 }
X 14 = 10.479

6) B (300X 300X50)
N= KIK& A TR LFEL

A= 0.300X0. 300 X & T
= 0.300 X 0. 300 X 14 = 1.260

14 A&

10. 48 m

14 &7

1.26 m*®



BAORERE T ME3EE
1. 25 &R T (GW15)

i ) A pEaE BB ~TE
KihE 40 cm A 28 1:0.0 AL 1,000
R 20 em AIH AR 1:0.500 A= 1,118
& OB EN o fE A
K | B | ¥ | AW | AR | Y | EE | S | A | A | Y | EE
¥ m m m m m m m? m? m m m m?
2-1| 6.620] 6.620| 6.620] 1.582| 1.405| 1.494| 9.890| 11.057| 0.500] 0.758| 0.629| 4.164
2-2 | 3.050/ 3.050| 3.050| 1.664| 1.582| 1.623] 4.950| 5.534| 0.500] 0.500/ 0.500[ 1.525
2-3 | 6.950| 6.950| 6.950| 1.835| 1.664| 1.750] 12.163| 13.598| 0.500| 0.500/ 0.500( 3.475
2-4 | 6.620] 6.620| 6.620] 1.997| 1.835/ 1.916| 12.684| 14.181| 1.389] 0.500/ 0.945| 6.256
2t | 23.240] 23.240] 23.240 S E & 1.708] 39.687| 44.370 SEERR LU 0.664] 15. 420
SEEIHREI 0. 864
EJERR R
B = EHyEE X (Bl A&+ 5 AR + Kbk
= 1.708 X ( 0.0 + 0.5 ) + 0.400 = 1.254m
1) FEAFT (RC-40 t=200)
A= (CPEYJEMIE +FREH LiE) X AT &
=( 1.254 +  0.200 )X 23. 240 = 33.791 = 33.79 m®
2) B
A= FimmfE + W o fE
39.687  + 44. 370 = 84.057 = 84.06 m°
3) =27 U—1hK (18-8-40)
A:
={( 0.400 + 1.254 ) X 0.500 X 1.708
X 23.240 = 32.827 = 32.83m’
4) HHA (t=10) T 2
A= {CRUlg + P JERRUIE) X 1/2 X SERE S X & AT
={( 0.400 + 1.254 ) X 0.500 X 1.708 }
X 2 = 2.825 = 2.83m°



5) Kikx 3147 ($75) @2.0m*
N=(ffifi fifE — AR AAL S A%) /@2. Om®
=( 39.687 — 15.420 ) / 2.0 = 12.134

L= (Romfe + CPEHEE R & — PIIR AR &) X I ARL X A%
={ 0.400 +( 1.708 — 0.664 ) X 0.50 }
X 12 = 11.064

6) B (300X 300X50)
N= KIK& A TR LFEL

A= 0.300X0. 300 X & T
= 0.300 X 0. 300 X 12 = 1.080

12 K

11. 06 m

12 f&FT

1.08 m*®



PR T HEERE

T il Bk - ~Hik WAL % & =
PEAK T
[(==un KR R m3 40.6
R C m3 —
N D m3 30. 3
EiRET &R m3 1.3
FEm#IE m2 70. 4
g T CDIRITE (HiEWT ) B250-H300 m 65. 4
" B250-H400 m 12.0
A2 R—hT 18-8-25(20) BB m3 0.5 | AV =hT.(3) ~(4)
NFTY a—h BF-B250-H175 m 37.0
ki) - U A B300 X H300 m 5.2
a7 U—hE CDIEE250H (A)y 1) L=0. 5m s 137
TL—F L rE CDAE#E250 1 L=1. Om ¥ 9
Tv—F % PU300M T-14 L=1.0m ¥ 5
TV —F T E BiSF4TB300H T-25 L=1. Om ¥ 10 [ZERH
BT BIRT P3-D300 m 5.7
” VPO 100 (5 %) m 2.7
” VP ® 200 (5 %) m 4.0
" BB TPV ¢ 250 m 11.2
AP T AR (G1) G1-B500-1.500-H500 & AT 2 [(T-25) & e
G1-B500-1.500-H500 & AT 1 [(T-14) & te
G1-B500-1.500-H600 & AT 2 [(T-25) &Te
AR (G2) G2-B500-1.500-1800 ST 1 stz




B ¥ £ T @GKkD) ERLETEH /O

ol R MR JLEEE | BT
M Y C D
i Xy Bk +wb b
HAT = m3 m3 m3 m2 m3
TEELTHAEELY 29.7 23.4
T (10.0) (3.90)
N 37 a=h (BFB250-H175) 37.0 |PIERE - TIC TR 14.4
(10.0) (5. 50)
CDfIIE GEME ). B250-H300._ | .. 60.4 MBE L TICTRRI A | 300 |
(10.0) (5. 50)
DI (0T FA). B250-H400._ | | 12.0 PRERETICTRIES. | 66 )
(10. 0) (4. 40) (2. 40) (5. 00)
UIFZAiE. PU300. B300HA0 | .. SR IR0 NSRS SRV S e I SR SR B
BRT
P3-D300 No.2+6. 66 3.9 1.5 1.0 2.2
P3-D300 No.3+7. 365 1.8 [EH - TIC TR EE A 0.8
(10.0) (1. 60) (5. 00) (1. 50)
VP ® 100 (& %) 2.7 0.4 1.4 0.4
VP ® 200 (b5 %) 4.0 0.7 2.4 0.9
BB EER )1V /AE ¢ 250 11.2 |3%EK + T THE A
Hkb T-25 (1.0) (1. 80) (1. 40) (0. 81)
HEk#t  G1-B500-1L.500-H500 2.0 3.6 2.8 1.6
T-14 (1.0) (2. 40) (1. 90) (0.81)
okt G1-B500-L500-H500 1.0 2.4 1.9 0.8
(1.0) (0. 00) (0. 00) (0. 81)
HEk#t  G1-B500-L.500-H600 2.0 0.0 0.0 1.6
(1.0) (0. 00) (0. 00) (0. 81)
okt 62-B500-1.500-H800 1.0 0.0 0.0 0.8
&t 40. 6 0.0 0.0 30. 3 70. 4 1.3
LR - Ky Y oK H&: (m3)
A N_A—rar 7 Y—FL 12.0 XA NX—har v 7V — s THEEFHEELY V= 0.039 % 12.0 0.47




+ T O R F
R (E)
il B PR Yo H i 2
(m) Wrimfg | CFSWrm | S FE | WrmAE | CPHlmE | 2 E
(m2) (m2) (m3) (m2) (m2) (m3)
NO. 0+ 0.000 0. 000
NO. 0+ 2.221 2.221 0.4 — — 0. — — NO. 13
NO. 1+ 0.000] 17.779 0.4 0. 40 7.1 0. 0. 40 7.1
NO. 1+ 7.023 7.023 0.4 0. 40 2.8 0.4 0. 40 2.8 |NO. 13
NO. 1+ 8.706 1. 683 EC. 13 4]
NO. 1+ 17.329 8. 623 EC. 1
NO. 2+ 0.000 2.671
NO. 3+ 0.000/ 20.000
NO. 3+ 17.365 7.365 0.5 — —| BC.2
NO. 4+ 0.000] 12.635 0.3 0. 40 5.1
NO. 4 + 13.480|  13.480 0.3 0. 30 4.0 |NO. 43T
EC. 2/BC. 3
NO. 4 + 16.095 2.615 0.3 0. 30 0.8 | No.4#H
NO. 5+ 0.000 3. 905
NO. 5+ 10.635/ 10.635 EC. 3
NO. 5+ 19.419 8. 784 NO. 63t ]
NO. 6+ 0.000 0. 581
NO. 7+ 0.000] 20.000
NO. 8 + 0.000/  20.000
NO. 8+ 1.789 1. 789 BC. 4
NO. 8 + 7.298 5. 509 BC. 43t ]
NO. 9+ 0.000] 12.702
NO. 10 + 0.000]  20.000
NO. 10+ 2.911 2.911 EC. 4
NO. 10 + 12.500 9. 589 EC. 43t ]
NO. 10 + 18.564 6. 064 EP
= i 218. 564 9.9 19. 8
oY = 29. 7




+ T i B E
L ()
il B PR Yo H i 2
(m) Wrimfg | CFSWrm | S FE | WrmAE | CPHlmE | 2 E
(m2) (m2) (m3) (m2) (m2) (m3)
NO. 0+ 0.000 0. 000
NO. 0+ 2.221 2.221 0.3 — — 0.3 — — NO. 13
NO. 1+ 0.000] 17.779 0.3 0. 30 5.3 0.3 0. 30 5.3
NO. 1 7.023 7.023 0.3 0. 30 2.1 0.3 0. 30 2.1 |NO. 1%
NO. 1+ 8.706 1. 683 EC. 13 4]
NO. 1+ 17.329 8. 623 EC. 1
NO. 2+ 0.000 2.671
NO. 3+ 0.000/ 20.000
NO. 3+ 17.365 7.365 0.3 — —| BC.2
NO. 4+ 0.000] 12.635 0.3 0. 30 3.8
NO. 4 + 13.480|  13.480 0.3 0. 30 4.0 |NO. 43T
EC. 2/BC. 3
NO. 4 + 16.095 2.615 0.3 0. 30 0.8 | No.4#H
NO. 5+ 0.000 3. 905
NO. 5+ 10.635/ 10.635 EC. 3
NO. 5+ 19.419 8. 784 NO. 63t ]
NO. 6+ 0.000 0. 581
NO. 7+ 0.000] 20.000
NO. 8 + 0.000/  20.000
NO. 8 1. 789 1. 789 BC. 4
NO. 8 + 7.298 5. 509 BC. 43t ]
NO. 9+ 0.000] 12.702
NO. 10 + 0.000]  20.000
NO. 10+ 2.911 2.911 EC. 4
NO. 10 + 12.500 9. 589 EC. 43t ]
NO. 10 + 18.564 6. 064 EP
= i 218. 564 7.4 16. 0
oY = 23.4
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HE & i =
T il il A | & | 1 =
CD{RITH: (e 1)
B250-H300 No. + 7.7~ No. 1+ 7.0 *H 18.5m
No. + 87~ No. 1+ 4.8 = 19.2m
No. + 7.8~ No. 4+ 15.7 *H 27.7m
Gr&=TH
Con#E=1174&
AEF 65.4 m
CD{RITH: (e 1)
B250-H400 No. + 24~ No. 0+ 7.7 *H 6.0m
No. + 32~ No. 0+ 87 = 6.0m
Gr&=2f¢
AEF 12.0m Con#=20%%
27 Y — & (L=0. 5m)
CD{RIRH No. + 0.0 ~ No. 13+ 18.6 v sl 137 & [117+20=137#&
GEi 137 #%
7 L—F 7 (=1 0m)
CDMAIEA T-25 No. + 0.0 ~ No. 13+ 18.6 v 9 # |7+2=9%
GEi 9 K
UTARIE PU300
B300 X H300 No. + 24~ No. 0+ 7.7 *H 5.2m
GEi 5.2m
P Vv=Fv)" 25 (L=1. Om)
PU300 T-14 No. + 24~ No. 0+ 7.7 = 5 K
GEi 5 K
BrH ) -b=0v-Fur
7 v=Fv)" 25 (L=1. Om)
BLSFTMREB300 No. + 1.6 T 10 £
GEi 10 4%
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T i BET (EELT) P3-D300 1.ox24 Y
No. 2+6. 660 (LR)
RYE TR
a=1.560x0.760=1.19
1560
500 560 500
k B\
10| Fo
< EES
i ¥
299 0o 2
#BERED
160 a=0. 76m2
1560
TR s B o
""" R I A T
R R AR a=  1.190 m2
V =1.190 X 1. 290 1.5 m3
""" we | ¢ |wgEE 1= L2000 ]
X R AR a=  0.000 m2
V =0.000X1.290 — m3
""" we | b |wgsEE 1= L2000 T
R R AR a=  0.760 m2
V =0.760%1.290 1.0 m3
U gmEE | 4 |wmEE = 280w T
PSRt W= 0.760 m
A = i THEE X 5t&mh 2.2 m2
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500 560 500
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LO| +—|
| ; | ~
| w8
760
1560
KESRBERE T&HO L TR A LA
ol JRRE B B
R A +wb KB R = 1.800 m
R R AR a=  0.000 m2
V =0.000X 1. 800 — m3
""" we | ¢ |wgEE 1= Lsooaw ]
X R AR a=  0.000 m2
V =0.000X 1. 800 — m3
""" we | b |wgsEE 1= Lsooaw ]
R R AR a=  0.000 m2
V =0.000X 1. 800 — m3
U gmEE | 4 |wmEE = Lo w T
FSEAI W= 0.760 m
A = i TIEE X b2 0.8 m2
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T i BET (EELT) VP ® 200 (ib) IR
No. 3+7. 70~No. 3+11. 70 (L)
RYETETE
a=0. 600 x0.326=0. 20
600
&
(an)
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© @7 G 4% o :'—_\'
RS : S g
< N N =
o o
S B
VPE ¢ 200
¢ 600
ol JRRE B B
R A +w KB R = 3.500 m
R R AR a=  0.200 m2
V =0.200X%3. 500 0.7 m3
""" we | ¢ |wgEE 1= ss0a T
X R AR a=  0.000 m2
V =0.000X3. 500 — m3
""" we | b |wgEE 1= ss0a ]
R R AR a=  0.000 m2
V =0.000X3. 500 — m3
R +w KB R L= 4.000 m
FSEAI W= 0.600 m
A = i TIEE X b2 2.4 m2
s | » | V= {0.6X0.416-(0.216%0. 216X = X1/0)} x4.0 | 0.9m3
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P il B IF%—7(C-30) t=100 m2 106.2
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ENTTE S-S

T 1) M HAE HAL | % &= e
X ET R L
[ES 7Y S I P72y = WP T FEH [ W=0.15 t=1.5mm m 488.9




IR R B
X R T
BOESMARE B (ER)  W=0. 15
(m) A=
NO. 0 .4 NO. 1 5.2 25.6 P
NO. 0 .3 NO. 1 7.0 36. 2 e
NO. 1 .3 NO. 4 15.7 63.5 s
NO. 1 .1 NO. 3 6.9 47.9 e
NO. 3 .8 NO. 4 15.7 27.7 e
NO. 4 .5 NO. 12.5 135.7 s
NO. 4 .5 NO. 5 1.3 4.8 e
NO. 5 .1 NO. 13.1 31.7 e
NO. 6 .4 NO. 3.3 29. 8 e
NO. 8 .6 NO. 12.5 71.2 e
EP 14.8 P

»
T

488.9




EREA R MR T B R

Tr = il Hikg - <1k HiL| %% & i
T BT I it % 1
PR AT BB AT 7V R —X —[fiif ¢ 100 | A 7
(KD RV 227 J— K |18-8-40BB  (t=100) m2 15.2




OB R F
4 B BRREEERE (T ) 2 — )

HAZ ;A
WA D Boal % & AL CHAD BRI &
No. 1 + 11.8 ~No. 4 + 12.4 7.0
&t 7.0 it
WEE 7.0




¥ B W o=
K 3Ly — )

AL of
WA D Boal % & AL CHAD BRI &
No. 3 + 7.6 ~No. 5 + 1.0 15.2
&t &t 15.2
WEE 15.2




BT SRR

ool o B G < S N HAL| % & o
Y+ T
BT BRARRE W<2. 5 m3 8.3+ T F
PREE T PR 2.0=W  + w m3 11. 5|#ERE TEF I
R D W<1. 0 m3 5. 9| HEkE TEF I
LY L & R TR TE L m2 10. 8| - T&t E
Y i L
1 L EAE T A — b m2 10. 8|¥%if L&t &
S PTFTHiERE T
EHKHEET |2 Y — b 18-8-40 m3 4. 36| BiERE TET I
LA RC-40 =200 m2 5. 68| BiERE TET I
LT — IR m2 12. 63| FEHE T &} |-
H ikt t=10mm m2 —
KA 7 VP ¢ 75 m —
K 300x300x50 m2 —




+ T i H =
K8 (D)

il =y B PR s A o=

(m) Wrmfs | FHWmE | S WrmAs | W | ST

(m2) (m2) (m3) (m2) (m2) (m3)
NO. 3+ 8.650 — 2.8 — (Z£7i7)
NO. 3+ 8.650] 4.900 1.9 2.35 11.5 (E£m)
NO. 4 + 14.080 — 0.0 — (ZHi-1)
NO. 4+ 14.080| 0.400 0.0 0. 00 0.0 (ZERiI-2)
NO. 4+ 14.080| 5.660 0.0 0. 00 0.0 (E£m)

& g 10. 960 11.5 0.0

A AE 11.5




+ T FH H &
#HOR (D)

W Py A R e s A o=

(m) Wrimds | “FWiE | S FE WrmAs | W | ST

(m2) (m2) (m3) (m2) (m2) (m3)

NO. 3+ 8.650 — 1.5 — — (Z£7i7)
NO. 3+ 8.650] 4.900 0.9 1. 20 5.9 (E£m)
NO. 4 + 14.080 — — — (ZHi-1)
NO. 4+ 14.080| 0.400 (A£Hi-2)
NO. 4+ 14.080| 5.660 (ZEH.)

& g 10. 960 5.9 0.0

A AE 5.9




+ T i H =
AR T

il J=t B PR W<2.5 2.5=W<4.0 o=

(m) Wrimds | “FWiE | S FE WrmAs | W | ST

(m2) (m2) (m3) (m2) (m2) (m3)
NO. 3+ 8.650 — 1.5 — — (Z£7i7)
NO. 3+ 8.650] 4.900 0.0 0.75 3.7 (E£m)
NO. 4 + 14.080 — 1.4 — — (ZHi-1)
NO. 4+ 14.080| 0.400 1.4 1.40 0.6 (ZERiI-2)
NO. 4+ 14.080| 5.660 0.0 0. 70 4.0 (E£m)

& 3 10. 960 8.3 0.0




+ T i H =
B 1 1k i B E

il =y B PR (£) (hH) o=

(m) & HPER | m T PYNER | mwm M

(m) (m) (m2) (m) (m) (m2)

NO. 3+ 8.650 — 1. 300 — — (Z£7i7)
NO. 3+ 8.650] 4.500 0. 000 0. 650 2.9 (E£m)
NO. 4 + 14.080 — (ZHi-1)
NO. 4+ 14.080| 0.400 2.1 — — (ZERiI-2)
NO. 4+ 14.080| 5.660 0.7 1.40 7.9 (E£m)

& g 10. 560 10.8 0.0

A AE 10. 8




) AHERE T B R

1. 1-15EAHXBERET. (GW15)

i ) A pEaE BB ~TE

Kuilg 40 cm AT AN 1:0.0 R 1,000

JEREIE 20 cm AHE AL 1:0.500 £ 1,118
& OB EN o fE A

K | B | ¥ | AW | AR | Y | EE | S | A | A | Y | EE
¥ m m m m m m m? m? m m m m?

2-1] 4.500{ 4.500] 4.500] 0.920] 1.730] 1.325| 5.963] 6.666] 0.500

0.858] 0.679| 3.056

4.500| 4.500] 4.500 SHE | 1.325] 5.963| 6. 666 SEYJRR AAL] 0.679]  3.056

AR | 0. 879

PE IR
B = “PHE R X (AT A A+ 3 A + K
= 1325 X ( 0.0 + 0.5 ) + 0.400

1) Ef44 (RC-40 t=200)
A= (CEYERME -+ UIE) X JEfERE

=( 1.063 +  0.200 )X 4.500 = 5.684
2) Bip
A= ATEER + e
= 5.963 + 6. 666 = 12.629

3) =7 U—h (18-8-40)

A:
={( 0.400 + 1.063 ) X  0.500 X 1.325 }
X 4,500 = 4.362
4) HHisr (t=10) Erge 2
A= { Rl + T EIMIE) X 1/2 X EXE &) X @R
={( 0.400 + 1.063 ) X  0.500 X 1.325 }

X 2 = 1.938

= 1.063m

=  5.68m°

= 12.63 m°

= 4.36m’

=  1.94m°




5) Kikx 3147 ($75) @2.0m*
N= (i o fl — HR A FLES [ FE) /@2. Om®
=( 5.963 — 3.056 ) / 2.0 = 1.454

L= (Romfe + CPEHEE R & — PIIR AR &) X I ARL X A%
={ 0.400 +( 1. 325 — 0.679 ) X 0.50 }
X 1 = 0.723

6) B (300X 300X50)
N= KIK& A TR LFEL

A= 0.300X0. 300 X & T
= 0.300 X 0. 300 X 1 = 0.090

RN

0.72 m

1 AT

0.09 m®
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MRS PR T s A AL B Co (JH:f57) m3 35.

" Co (H1%) m3 L.

" As m3 6.
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(t= 10cm) No. 1+ 4.6 ~ No. 2+
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B AR I T 0. 600 X ( 1. 180 — 0.250 ) X 1. 00 m3 0.558
HEUE R T () (_0.600 X 0.290 — x/4X0.090°2) X 1. 00 m3 0.168
F bk R T
(BEgt) 0. 600 X 0. 640 X 1. 00 m3 0. 384
s T 0.558 — 0.384 m3 0.174




No. 19
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B AR I T 0. 600 X (0.760 — 0.250 ) X 1. 00 m3 0. 306
HEUE R T () (_0.600 X 0.260 — x/4X0.060°2) X 1. 00 m3 0.153
F bk R T
(BEgt) 0. 600 X 0. 250 X 1. 00 m3 0. 150
s T 0. 306 — 0. 150 m3 0.156




No. 20
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bk IR T 0. 600 X (0.740 — 0.250 ) X 1. 00 m3 0. 294
R T () (_0.600 X 0.240 — m/4X0.040°2 ) X 1. 00 m3 0.143
AR 5T T
(BE+H) 0. 600 X 0. 250 X 1. 00 m3 0. 150

AT 0.294 — 0.150 m3 0.144




